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Exercice 1 - Compléter le formulaire ci-dessous :

cos®0 +sin’ 0 = cos’f = sin®@ =
/4 /4 T T
X 0 — — — —
4 6 3 2
cos(x)
sin(x)
tan(x)
cos(—0) = cos(mr—0) = cos(m+0) =
sin(—-0) = sin(w—0) = sin(w +0) =
tan(—0) = tan(k —0) = tan(k+0) =
/4 /4
COS(E—Q): cos(§+9):
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tan(E—H): tan(g +9):
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cos2a =
cos(a+b) = _ 2 _
cos2a = cos“a=
cos(a—b) = cos2a=
s%n (a+b) = sin2a = sin®a =
sin(a—b) =
tan(a+b) =
tan2a = tan’a =
tan(a—b) =
cos(a) cos(b) = sin(a)sin(b) =

Exercice 2 - Résoudre les équations suivantes, d’'inconnue x e R :

1. sin(x) = cos(x)

V3

2. cos(2x)=—
(2x) >

3. \/§cos(x) —sin(x) = V2



